[ ]
Tt SIMAl I SUE, S5

=5 4Y/HIE o[0ix|

ks

HE AN

ZEEZ 2 2T = 70| MEtE 2 E A|ARI0| O MR L
Ct 22t E¥Z = ZHES 7| HEA &2 S| CrYst
S AAEHN RAHASHH ALE 7S FELICH

po Lk

A B 2Rz o M BlHE LAE 2EQ AZFLC STIE
E2E MDS Sall 2T B Y=ol SSELIC

HMBHE M AERI R SHES il %0 0|E FHTHL
C}. —;-%'.“s';’ SHHE M= & 20| SHES ABZE MHE = UL
S BM 27t Z|SotE LI B|MA Bt 23 Zo|HU AERIE
M= Bl Bl ket g2t E o

ST FRol HX|7F AR H7IMez Hystn U B2 Hast
A2,

53' PR 1A Bl 2= o Bl Bl 3| 2ol &lo| 4

2EC| ot 2}z o| ZMX| EH2 M| A| SEEQ| =0[of HH =
XMEz|o{of 5tH E/Z ZQIEE +Ho Z Q|x|HoF gLCt.

SIMA B 2= ol /XIE SHI2H X[H5IH B2 M BT
ZEE ZRE x|xMoz EME £ laLct
SIMA B 2T E AI85HH 2 &2 E4E £+ Q&LIcH SEED
EHE AAHO| FHE 0 A HAZIREKX]| HHEA| EOQISHAIAIR
SIMA B 23 Tol= JHE SHM BIHE &are = QU&LICH 3T A
B Sz o| FME = M giieqe] Zolof et EetEILICEH

SIMA B E¥EZ8 HM BHE 33 HRlol ZEElo] UX| t&L
Ct.

Or™ X|Elo] Fol5tAAI2
QH=0fl0| M A2

c2E /g,

7|= Olo|E:

Z|CH & & =: 6bar.

xgl

Mx| 22Me ZITSHAAIR
XA

- 2T Al HEE s

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/4



S 24 g ST, =S
ES /A 0/0/x]

© HEINRICH KIPP WERK GmbH & Co. KG

Kinn

-2telol gle & 3=
Al

o 2 n|&E 30t AEZ3 A AR| AMof.

=0 WA
4700 AN SHE AT F DINENISO4762 = S288 %

S™MA Y 2} == EIM il K1857.

S MY

1) Bl Bile Z10|(K1857 & =x)
2) 312(K1857 & X)

3) HMMEl &=

4) Mzl 2

5) 82 2 A2l

6) sHA

7) 2™E

www.kipp.com - info@kipp.com

]

2/4



! 1 @
.

1
Yy

f g
= |
: G
Dy
D147
L
Bl
e ' l\ |
g B
/ I
o <)
N |
[ e | Il 4)
7/l !
®@ 50°
o DfHE
= : _ " 113
L:Eﬂ / qé- : Y / ‘-:E “X ”Yu
S 77 ‘57 )
§ 7 5 | / RO,5
/7 ‘ o
T
b

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  3/4



[ ]
210} 5 Al Hilix B
32 XA i E=E, 8BS
=M
S A B 2™z ol 5 HMI ALt
Ei'ﬁ/e“k” wolL TIAER F, 2 B4 25 Z0| Lol [HE L8 BIME Fg,
L3
Akt
Fsp B Fg, = Fra X3
L
P Bz pg = T99KNX25mm _ 4 4q 4y
45 mm
ofl:
EE{2| M S-Y A2 37140
315 22 6bar
Bbar0f M Z|AE2 Fy, = 1.99kN
Eoi| (2 ®|% L3 =25mm
M Bl 2oL =45mm
22 HAE Fg, 23 = 1.11kN
5 0
ot S|l i SU=E, 25
FEHS IAE 4 Et B Bi1 D D1 G G1 H H1 H2 H3
NS
K1870.121304 12 c2lE A 27 195 20 21 M4x25 M4x8 15 22 21 7
K1870.161304 16 cEg2E g 34 25 27 28 M5x35 M5x11 20 24 28 10,5
K1870.201304 20 c2E A 40 30 34 35 M6x40 M6x10 25 27,5 35 9
K1870.251304 25 c2E A 52 385 43 44 M8x50 M8x12 31,25 32 43,75 11,5
K1870.321304 32 Eg2E g 66 49 57 58 M10x65 M10x16 40 37 56 15,5
K1870.401304 40 =S A 78 59 71 72 M12x80 M12x18 50 46 70 17,5
FEHS IAE H4 H5 H6 L L1 L2 L3 R LAE™ S=3
Ni= 6bar 42 IAE MY
(KN) (cm?)
K1870.121304 12 225 12 95 27 9,75 3,75 7,5 13,5 0,14 2,27
K1870.161304 16 245 13 10 35 13,5 4,5 10 17 0,27 4,52
K1870.201304 20 28 15 11 41,5 16,5 5 12,5 20 0,42 7,06
K1870.251304 25 33 19 13 53,5 20,75 6,75 15,63 26 0,68 11,34
K1870.321304 32 38 21 14,5 68 26,5 8,5 20 33 1,27 21,23
K1870.401304 40 47 28 18,5 82 33,5 9,5 25 39 1,99 33,18
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  4/4



